REC Level 4 Diploma in Recruitment Management RECTC 4-6 Examination

[image: image1.jpg].... Recruitment
O & Employment
® Confederation



Principles of recruitment resource strategies – Past exam paper 

REC Level 4 Diploma in Recruitment Management 
RECTC 4-6 – Principles of Recruitment Resource Strategies
Past exam paper
Time allowed:  60 minutes
50 marks

· Students are required to answer all questions

· Marks allocated to each unit and question are clearly shown 

· Where appropriate bullet points can be accepted

· Do not penalise students for grammatical/spelling errors

· Annotate the MS where additional, relevant answers are given by students

· Mark in red ink

· Ring totals for each of the questions and transfer to front cover

· Indicate you have seen each and every page by marking in red ink

· Do not add personal comments about student performance

· Alert REC to any suspicion of collusion, dyslexia or other problems

· Keep an independent record of student marks in case of mislaid scripts

· Alert REC to any comments, notes, etc., in script from student
You have worked with your present recruitment consultancy, Woodman Thompson Vickery plc, for several years, establishing a reputation as an effective recruitment consultant.

You receive a call from George Gregan, Chief Executive of the Whacketta Packetta AS, headquartered in Oslo. George is visiting their UK manufacturing site WP Ltd (WP), located near Swindon on the M4 corridor. You know that WP is located in an area that offers excellent housing, schooling and shopping facilities, together with good rail and road links.  The area is served by London Heathrow and London Gatwick airports and house prices are stable.  

Over the years, the company has won numerous awards for its exports, as well as product quality and assurance. WP is the leading manufacturer of machinery for producing printed cans for the food and drinks industry, along with plastic injection moulding machinery for the pharmaceuticals sector. Their technologically advanced systems for metal decorating have revolutionised the industry and WP is recognised as a world leader.  Its customers include many well-known food and drinks companies around the world. The production facilities at WP are regarded as state of the art, combined with outstanding research, design and product testing facilities on site.  According to one national newspaper, WP is “without doubt, world class engineering and streets ahead of its competitors – WP is leading the way and setting the pace for metal decorating, cans and injection moulding”.  WP is in the process of developing specialist machinery units for injection moulding, decorating and labelling machinery for small biodegradable plastic alternatives which is seen as a key growth area for WP.

You have recruited several managers for George over the last couple of years and you know that the company is set for continued growth.

1)
George tells you that WP is going through some significant organisational changes.  He says: “we have had to look at the way that WP operates and have opted for the Shamrock organisation structure”. Thankfully, you are familiar with the work of Charles Handy. 

a) Explain what is meant by a ‘Shamrock organisation’.













(4 marks)

Award up to 4 marks for an appropriate explanation along the lines of:

A
The model breaks the overall structure down into three key areas consisting of …

(1 mark)

B
Core workers (strategists with a knowledge of core processes, managers,


(1 mark)


technical specialists and technicians)

C
Outsourced element includes contractors providing non-core activities who are 

(1 mark)


employees of the organisation (e.g. IT, training, marketing, franchising)

D
Flexible labour, including those on consultancy projects (part time, temporary


(1 mark)


and contract staff)

R
Accept any reasonable explanation of the Shamrock model




(1 mark)

(RECTC 4-6, AC: 1.1)

b) Whilst you recognise the thinking behind the proposal, you are not convinced that this is the right model for WP. Given what you know about WP, explain the principal problems they may face when adopting the Shamrock structure.














(4 marks)

Award up to 4 marks for an appropriate explanation along the lines of:

A
The main problem of the Shamrock model in this context is that decisions about 

(2 marks)

outsourcing and the use of flexible staff are likely to be made in the headquarters 

in Oslo

B
Tactical v strategic decisions - strategic decisions on outsourcing and flexible 


(2 marks)

staff that should be made on the ground locally (in Swindon) are likely to be made 

in Oslo 

R
Accept any other reasonable explanation of the potential problems



(2 marks)

(RECTC 4-6, AC: 1.1)
2.
George asks you to meet him on site as he has a more pressing, urgent requirement.  He tells you that one of his senior managers, the Production Design Manager, has left suddenly.  George wants you to find a replacement as this is a key role in terms of new product designs.

a) You ask George if there has been a job analysis for this role, but he seems unclear what you mean.  

Explain the term ‘job analysis’.


















(4 marks)
Award up to 4 marks for an appropriate definition along the lines of:

A
Job analysis is a structured exercise 







(1 mark)

B
aimed at recording and analysing the key tasks within a job, 




(1 mark)

C
focussing on the demands it makes, 







(1 mark)

D
its contribution to the organisation, 







(1 mark)

E
and the way the performance is measured. 



 


(1 mark)

R
Accept any reasonable definition of Job Analysis





(1 mark)

(RECTC 4-6, AC: 1.3)

b) George admits that this has not been done, but realises that it would be a good idea. You confirm that you can help him do this.  You are surprised to learn that the Production Design Manager reports in to the Marketing Director on site, Sarah Hunter, a candidate you placed with WP three years ago. You know her to be an outstanding marketing professional who is very ambitious. George suggests that you speak to her, as the line manager, in the first instance. You do, however, have reservations about this. In particular, you worry that she may only want to emphasise the parts of the job that directly affect her own position. 



Give two other reasons why speaking with Sarah may not be the most effective approach.













(4 marks)

Award 2 marks for each of two of the following:

A
As a senior management role, the Production Design Manager role may be seen 

(2 marks)


as a threat to her own position

B
Conversely, Sarah may exaggerate some aspects of the job in order to 


(2 marks)


increase her own importance within WP

C
Sarah may simply think that the Production Design Manager job is unnecessary

(2 marks)

D
As it is a senior role within Sarah’s area of responsibility, she may play down

 
(2 marks)


its importance to secure her own position from potential rivals

E
Marketing professional is unlikely to have a knowledge of the role.  



(2 marks)

R
Accept any reasonable answer







(2 marks)

(RECTC 4-6, AC: 1.3)

c) George quizzes you about the possible options that he might consider as part of the next step in the process.

How would you respond?  













(4 marks)

Award up to 2 marks for each option given, to a maximum of 4 marks from the following:

A
Internal recruitment – promotion or relocation of existing employees with relevant 

(2 marks)

experience 












B
Reallocate tasks and duties








(2 marks)

C
External recruitment in the UK to bring in new staff to WP




(2 marks)

D
Consider external recruitment in overseas markets to identify suitable candidates 

(2 marks)

for work in UK












(RECTC 4-6, AC: 1.1, 1.2, 2.1)
3.
George has always been a fan of using an executive search (headhunting) approach and this is his preferred method for this position. 

a) You know that headhunting will enable you to identify passive candidates, but given the complexities of the role, you are concerned that this could prove to be expensive for WP. Given your knowledge of WP and the candidate market, you tell George that you “have a good feel” for the job and propose advertising in national and niche media, combining this with the use of job boards.  

Give two potential advantages of using this strategy.












(2 marks)

Award 1 mark for each of two from the following:

A
Give brand awareness (both for your consultancy and WP)




(1 mark)

B
Reaches a target audience in terms of skill sets and/or role status



(1 mark)

C
Newspaper advertising likely to have an online component, therefore extending 

(1mark)

target audience










D
Timescale - can be posted quickly







(1 mark)

E
Job is advertised 24 hours a day, 7 days a week to a global market for work in the 

(1 mark)

UK

R
Accept any other reasonable answer






(1 mark)

(RECTC 4-6, AC: 2.1)
b) You reassure George that you will monitor the effectiveness of the recruitment method that you have proposed.

Give two examples of ratios that you could use to provide statistical information throughout this recruitment assignment.












(2 marks)

Award 1 mark for each of two from the following:

A
Number of candidates applied : number of candidates shortlisted



(1 mark)

B
Cost of advertising : number of applications






(1 mark)

C
Cost of advertising : number of candidates shortlisted




(1 mark)

D
Interviews : number of shortlisted candidates





(1 mark)

E
Time : to hire









(1 mark)

R
Accept any other reasonable example in ratio format that can be used to measure

(1 mark)

performance 

NB:  Answers must be in ratio format and be relevant to the method proposed 

(RECTC 4-6, AC: 2.2)
c) You tell George that you want to maintain the ongoing relationship with WP and you outline the additional consultancy work you could offer in terms of input into the WP human resources plan.  

Other than undertaking job analysis or providing salary indicators, give two examples of positive inputs you could make to the WP human resources plan.









             



(2 marks)

Award 1 mark for each example given, to a maximum of two marks from the following:

A
The production of documentation







(1 mark)

B
Feedback on market conditions







(1 mark)

C
Timelines to recruit certain jobs/job types






(1 mark)

D
Guidance and advice on whether jobs can be redefined/streamlined



(1 mark)

E
Succession planning








(1 mark)

F
Competitor information








(1 mark)

G
Brand awareness/feedback








(1 mark)

H
Can ‘Red flag’ compliance issues/concerns






(1 mark)

R
Accept any other reasonable example of a positive input that a recruiter can input

(1 mark)

into to the HR Plan








(RECTC 4-6, AC 1.5)

d) George accepts your advice and asks you to explain what is likely to really appeal to candidates about this job.  You talk about candidate motivation, including CLAMPS. As soon as you mention CLAMPS, you realise that George is not familiar with this term.  

Identify and briefly consider the implications of the first two CLAMPS headings, in the context of the Production Design Manager role on offer at WP. 

(6 marks)

Award 1 mark for each of two headings given and up to a further two marks for each relevant explanation in the context of the job at WP:

A
Challenge










(1 mark)

AA
WP have state of the art research, design, production and product testing facilities

(2 marks)


of the art facilities providing a constant work challenge

AAA
Opportunity to work on development of specialist injection moulding machinery

(2 marks)

Incorporating decorating and labelling for biodegradable plastic alternatives

B
Location










(1 mark)

BB
Candidates may find the ‘M4 Corridor’ location appealing.  WP is located in an


(2 marks)


an area that offers excellent housing, schooling and shopping facilities, together 


with good rail and road links.  The area is served by two international airports and 


house prices are stable.  

BBB 
Conversely, Alternatively, housing supply and relocation costs may be a potential

(2 marks)


problem if candidates need to relocate

R
Accept other reasonable explanations (examiners need not word search 


(2 marks)


explanations, but these must be related to the job on offer at WP)

(RECTC 4-6, AC: 1.4)
4.
The following week, your proposal documentation is emailed over to George who has returned to Oslo. He immediately calls and tells you to proceed, but reminds you that he is operating against a strict budget. 

a)
George requests a full breakdown of your anticipated costs and chargeable expenses, as he wants to carry out a monthly variance analysis on the assignment.  

You send him the following information:

Month 1 
Anticipated costs (inc. media costs, artwork)  

£22,000

Month 2
Anticipated costs (inc. consultant/candidate expenses) 
£4,500

Month 3
Anticipated costs




£1,000

In fact, your actual advertising expenditure is slightly lower than you had first thought, so your month 1 costs are £16,000.  Month 2 sees your travel expenses slightly up at £5,400.  It looks as though you may have underestimated your Month 3 costs and these are actually £1,500 although you know that George will not be too concerned (you hope).  

Showing the calculations, detail the cost variance analysis for each month from the figures given.










(6 marks)

Award up to 2 marks for each correct calculation:

A
Month 1   
£16,000 - £22,000 =  £6,000 –  (underspend)




(2 marks) 

B
Month 2    
£5,400 - £4,500 =  £900
+  (overspend)




(2 marks)

C
Month 3

£1,000 - £1,500
 = £500 +  (overspend)




(2 marks)

R
Accept other reasonable presentation of the calculations, providing the end


(2 marks)


result is correct

(RECTC 4-6, AC: 2.2)
b)
Your Operations Director, William Greenwood, has noted your ongoing relationship with WP.  You both know that George can be a very demanding client. William asks you if you have a back-up plan in place.  

Give four back-up options that you may need to discuss with George, in advance of the Production Design Manager job being filled.





(4 marks)

Award 1 mark for each of 4 from the following:

A
Re-advertise the position








(1 mark)

B
Review the salary for the position







(1 mark)

C
Have back-up candidates ready to support the shortlist




(1 mark)

D
Offer temporary or interim management support





(1 mark)

R
Accept any other reasonable back-up plan that is practical prior to any decision

(1 mark)


being made

NB: 
Examiners should not award marks for back up plans that are clearly post appointment (e.g. “replace the appointed candidate at no additional charge” would not gain marks here)
(RECTC 4-6, AC: 2.3, 2.4)
5.
Your initial research has given you the confidence that you will be able to find candidates with the correct skills and experience from your advertising.  In the event, you get some quality applications.  You remain aware that you are dealing with people and therefore things can always go wrong. 

Give two possible reasons why your shortlist may not be successful, other than shortlisted candidates withdrawing at the last moment or poor results from reference checks.













(2 marks)

Award 1 mark for each potential reason given to a maximum of 2 marks from the following:
A
WP decides they no longer need an external candidate




(1 mark)

B
Candidates falsify their qualifications






(1 mark)

C
Salary demands prove too high for client






(1 mark)

D
Personality of candidates may not fit with culture/style of WP



(1 mark)

E
Internal ‘politics’ within WP







(1 mark)

F
Organisational restructuring at WP







(1 mark)

G
Change in organisational strategy







(1 mark)

H
Candidates may not be as good as you think






(1 mark)

R
Accept any other reasonable answer






(1 mark)

(RECTC 4-6, AC: 2.3, 2.4)

6.
Several weeks later, George has completed the interviews of your shortlisted candidates.  He makes an offer to one candidate, which is accepted at an annual salary of £80,000, with a review after six months.  Your candidate is able to start straightaway.

Your manager, William, congratulates you on the successful outcome with WP and asks you what happens next with the client.  You outline some of the features of your follow-up programme.  
Give three ways in which your follow-up programme would help you continue the development of your relationship with WP.








(6 marks)



Award up to 2 marks for each relevant reason given, to a maximum of 6 marks for explaining that a follow-up programme will help to:
A
Determine the effectiveness of your recruiting activities




(2 marks)

B
Identify any problems during the recruitment process





(2 marks)

C
Establish problem areas post-recruitment 






(2 marks)

D
Ensure appointed candidate is meeting objectives of the role, within anticipated

(2 marks)


timescale












E
Enable recruiter to define any retention problems/issues




(2 marks)

F
Facilitate performance review against contractual obligations




(2 marks)

G
Ensure overall strategy remains on target






(2 marks)

R
Accept any reasonable answer







(2 marks)

(RECTC 4-6, AC: 1.1, 1.2, 2.1, 2.2, 2.3, 2.4, 2.5, 2.6)
(Total: 50 marks)

END OF QUESTIONS
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